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|
| If\111 - % )of a Eumher 1s added with

9 —
Ly .
H‘ itself then result hecnmes Find

the original number.

—

. = . ] = = b
foRdt 9& 1 396 111 © % 9 S T 9

9
& 7676 €1 go TEAT T FL?
() 2536 (b) 4646

(c) 5656 () 6565
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, If{ 14—9%] of a number is added with itself
[ — = 7 —_—
< @ mw thén—rfesult becomes 4872. Find the
o4 .. —_—
N9 original number.
o) = ofs e wom 1 e 1429 7 i
!
bt = (U HEA 4872 B YA WEA T HL
T g (O9xF (a) 632 (b) 5625

(c) 4263 (d) 6250
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Price of petrol increased from Rs@ per litre to
Rs. er litre. How much should the consump-
tion of petrol be reduced (in %) so as to increase
expenditure by only 10%? - )»

U2l hi hiFd 60 FIT Fid (fllc‘.{ 19[ Fgh 75 TUT Yfd

oeX €1 STt 81 U2l i @ud i fohaT 7 (% H) T

e A s@l g3 @d &adl 10% @72
\yyz}y (2) 20 (3) 15 (4) 18

(pm'cg X Grn,emnﬁlvm = Expwﬁuw

>

Dmil’ 15 Xé)(:s’/”
Ty R F:
! v/g(zr C§

Q _ 58
TS
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The price of 0il is increased h

consumption decreased b

gcrease in the expendi-
| O
I T oI 20% 9¢ a1 € fohq sHeh! @I 83 % T
F9 2 Sl Bl 39 W A9 § foha wfaera afig etemn &+

@@ @1) Ir\gyéby 10%/10% afs
/|

percentage increase or d
ture on it?

Eo (2) Increase by 5%/5% dfg

—_’—

3) Decrease by 10%/10% <HI

lfm‘beeﬁ h g T
ecrease by 5% /5% Al

C_L | «—t2
0 T
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i

CSHLCLM: P ce ~' ome fereed x N'og Treieak

4/—3:’16 number of seats in a cinema hall is increased
\ . The cost of each ticket is also increased

/0 The effect of these changes on the reve-
? / nue collection will be an increase of
\ ferdl T Bicl i Hiel sl §&A § 25% ki g i 5|

- \ o b . n o
\0 Uk fehe & a4 H Hl 10% i gfg FX I Wl A

"'.

qfeal & IRy (991 gfd 9 9T g1 dell 379

- g
\\;37.5% (2) 45.5% (3) 47.5% (4) 49.5%
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[f each side of a cube is increased by 10% the
volume of the cube will increase by

0%+ | RIERCE IR eS| ﬁﬁﬁ%lﬁ“{w&w S DL
o H foas ufaema gfg grf
(1) 30% (2) 10% 3.1% (4) 25%

e ————

) — -
[”W!W‘—a I(L_/bb
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How much water must be added to 100 ml of 80
per cent solution of boric acid to reduce it to a 50
per cent solution ?

80% HIfieh 377 ard 100 THe. 9t & oA | fohd1 9
3R Themrn s T sie o «ifte 31T 50% Bl Su?

(1) 30 ml / THeil. yl/fwﬁ.
(3) 50 ml / fae. 60 ml / THaeit.

? (s o - (i)

“0 [ty

i V
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40 lit f a mixture of milk and water con-
tainis\( 10‘-"/3 of water, the water to be added, to
make € water content 20% in the new mixture
1S :
39 R U F TH 40 <X HHm F 10% U ®
U fagor § 20% UHl WA o fau, ga fagor 5 fHeme
ST Ot Skl HIET 28—
(1) 6 litres / @ieX (2) 6.5 litres / il
(4) 5 litres / witeX

N
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4 ED | p A, B and C spend 80%, 85% and 75% of their

7\ incomes, respectively. If their savings are in the
- rati: 9 : 20 and the difference between the
incomes of A and C is # 18,000, then the income

of Bis: Nt
A, B 3R C 7 31 1 %HI;: 80%, 85% 3R 75%
T Hd 8| A ITR! 99d HT UG 8 : 9 : 20 B qe

A 3R C &I 3 ¥ 18,000 ¥94T T X =&, 9l B F1 3™

f\ﬁ (1) 7 24, 000 (2) 7 27,000 A 50

(3) ¥ 30, 000 (4) T 36,000 M
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5
A student multiplied a number @instead of 3 -

What is the percentage error in the calcuration ?

Ar
L8

/%7 B B g P g R R
04

— ﬁgrﬂnaa‘{ﬁw Oieher ﬁgﬁqﬁm

(1) 44% (2) 34% ) 54% . (464%
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o —
’ A man gives 50% of his money to his son and 30% to
k his daughter. 80% of the rest is donated to a trust. If
he is left with Rs. 16,000 now, how much money did

= he have in the beginning’?

30 — ) T AT 3T ¥ 1 50% T 3T I I 3T 30% I

| AU AT BT < g1 W AR FHT 80% AW fHAT T A
¢ feo Sa1 21 37@ afe 39 =afed & 99 16,000 FUC &9
g, a@ IT% UE URY H 1 g of?

(1) Rs. 40,000 (2) Rs. 8,008,000
(3) Rs. 80,000 (4)_Rs”4,00,000
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5% ¢f annual salary of A is equal to eighty percent of
annual salary of B. Monthly salary of B is 40% of the

onthly salary of C. Annual salary of C is Rs. 6 lac.
A0 . e ——
(& What is the monthly salary of A ?

A & oItk ad9 1 25%, B & difieh odd o 80% °h
S 21 B &1 HIfgs a9 C & Hifgs 9d9 +T 40% 2|
A0 640 C 1 A1 a9 6 @ FIC 7| A 1 AT a7 feha 87

(1) Rs. 60002/ (2) Rs. 62,000
o 1‘8/ (4) Rs. 56,000

(\w% Rs. 64,00
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The ratio of the number of boys te=that of girls in a
school is 4 : 1. If 75% of boys and o of the girls are
scholarship-holders, then the percentage of students
who do not get Scholarsh£ IS

et TpeT o oISl 1 & 3R isfhdl i & &
AU 4 : 1 B | I ASHI o 75% i A AS R o F0%
%! BEg faerd €, a 39 foenfefar =1 ufaem, f5=<
T foerdt €, =1 ®
(1) 50% (2) 28% (3) 75% ) 26%
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_ oxpamdidun Rama’s expenditures and savings are in the ratio 5 :
MQ —E:—gq-\,i 3. |f-hek income increases by _12% and expenditure
o b then by how much per cent do her savings

,"\C: Scm'fﬁ &P inerease ?
TS T AA T=d B 5 : 3 HT STI 2| aE SR 2T
T 12% a1 99 H 15% ! gfg & 94, df ST g9d |

Tohd= gfasrd <hl ?
(1) 12%

(4) 13%
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300 grams of sugar solution has 40% of sugar in it.
How much sugar should be added to make it 50% in
the solution?

300 T =T % =i H 40% =T 21 39Y fora] =i
foems STt =feT S99 o9 39 i &1 50% @ ST
(1) 40 gram / UH (2) 10 gram / U™

(3) 60 gram / UM (4) 80 gram / UM
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The price of sugar 1s increase by 40%. By
how much kg. of consumption is decrease
so as expenditure will increase by 10%
only. When he originally consume 210
kg sugar.

=t =1 qoq 40% we&ar 21 fwad foem. @ua
FH M aied, o e =19 10% 5= sEfs
gredfas @aa 210 fFan. =+ 2

(a) 45 (b) 36

(c) 63 d) 52
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In an exami ation@ of the candidates passed in
English. passed in Mathematics. 10% failed in
both the subjects. If 144 candidates passed in both,
the total number of candidates were :

fordt alten § 70% TART 3TUST H 99 g, 80% UG

H U™ g del 10% 3 fowdi § %a gu oAt el

faoal & 144 yomtt 99 g, 9@ TR H po

& oi—

(1) 125 (2) 200
A

—

40 (4) 375
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The strength of a school increases and decreases in
4 every alternate year by 10%. It started with increase
in 2000. Then the strength of the school in 2003 as
CSQ,U’Q 2607 AL

compared to that in 2000 was
4 | % Tha ° BE1 H 9@ ° 8 THRR 98 ° HH:
10% &1 gfg T HH & St 21 98 2000 ¥ Ifg €2

o dl 2003 ® 2000 &I qa1 H Sl i &A1 fhar g5 ?
3% B \(J) rcreased by / 975 8.9%
Iy increased by 9%
AN3  (2) decreased by / FHI 8.9%
(3) increased by / Ifg 9.8%
4) decreased by / FHl 9.8%
(1|7&7

Mro] Xj [

- ',
nihel — lo T '0 )@%&W

-9 7%
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In an examination 34%failed in Mathematicsand 42%
failed in English. If 20% failed in both the subjects, the
percentage of students who passed in both subjects was

fordt qlien § 34% gdtenefl wford § %et g AT 42% TSI
H Thd gU | A 20% Thenef Al fowai ¥ e gw 1 @l

<Hl fowai d 99 el qhentiE 1 gfaea on—
(1) 54% (2) 50% A£4%  (4) 56%
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An electronic contractor has certain

GO m

— length of w1r\e/0% wire was stolen and
& 5 Urer

55— % Dflﬁ[hﬂ remaining was sold out.

9

(o i 2

| I HiF F I w9 a8 21 10% 97 91
VR YR . ;

the original length of wire. If 180
mtr wire 1s still left

S—

‘@ F foran s 2, 99 5ﬂg%ﬂméﬁﬁm
00 — g.oxjn T E AR F AR T TW AL, A
‘i&b 180 HeX Ar 31+l off == 7

M (b) 500

(c) 550 (d) 350

/,
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|7 (yme

Do)

tophed

A laobour wnrks}Q/hr, per week and he
earn Rs.ﬂ>@as wages. If his per hour

wages 18 im:reasi by

duration of work is

Find the % change in his income:

T A9l U HE § 60 e M FIal € ael
2400 T Y w4 21 AT ITFT ufq =g

: 1
I 5710, W F qum FH 2% W

. ? s
FO1 2 ™ H gfEdT I FL7
37.5% (b) 42.5%

(c) 40% (d) 50%
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A numer 1s increased by _15% and then
decreased by(25% and the number
becomes 22 less than the original
number. The original number 1is.

3 BT? Dﬁﬁm?‘mm%ﬁﬁﬁﬂ 25%

21 S 2 3R 79 HeN g 9% 9 22 FH
M X 2 W ¥ g wen FLY;

@) 14 ==

v
(c) Z «/ (d) 100

Go e} @oxz
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What percentage of the whole week does
Gulia spend 1n office, if his office hours
arg¢ 9 am to § pm from Mmlzda}r to Friday?

A e = w1 H9E HHaIR 9 PERaT
9 9 gIE ¥ 5 I M F T, A 98 W TwIE
1 Toha1 Ifaerd |rT 3719+ e H SAdid

(a) 33 b) 23.81%
©) 2R (d) 42.23%
oy
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( | )
In an exam 375“’: of total student are

girls. p of the girls and 75% of boys

pass theexam. If 342 girls failed in exam
Q/ then find the number of boys fail.

e
1

ot witen o oo fa=nfeai = 375%33_1%@1

1 o 4
 afg 62 % rgfall 3T 75% T e

U 90§ AR 342 efEar uien § $a @
Wt 21 d fohed g wien o %l gul

(b) 280

(d) S80
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An agent gets@: commission on_the
sale

Rs. 24000 and

b 5600

commission on the sale more than it. If
he gives Rs. 65000 to the company after

*)(X/UZ' 4-gvy deducting his commission on the total
E sale then how much sale he did.
1 ~{ g ovo) TF TSI FT & 24000 T 1 Tl T 12.5%

o Ay ofus ot W 8% FHYA e
21 9 e faghl W FHYA FEew 99 o1 98

FEr 1 E 65000 3, 1 T F A

forg - %7

(@) e (b) 95000 /
( —m— I P(d) 72000

—ad
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A Company allowed 9% commission on

the total sales made by salesman and a
bonus of 1% on the sales over Rs, 10000.
If the salesman deposited Rs. 45100 1in

the company after deducting his earning

from the total sales made by him. Find
the total sales?

pads Uk FH9A1 9 fashal Fet fasht 9T 9% FHHIHE

—— a2 991 10000 § TR 1 Tl W 1% 99

Tafad Salyy £Joow 4o 3 &1 % Fewr ot et ot @ ot

= VUV FUE BT IW 45100 T FIAT H FH FA
}‘\‘ <1 7, 1 el fash! @ Hi?
{3‘\& &{a} 45000 (b) 35000
c)~50000 (d) 75000
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In an exammatiﬂnf the students

failed in _math, 45% of the students
failed in English, 60% of the students
failed in Hindl. If 20% of the student
failed in_Math and English, 21% of the

students failed English and Hindi, 15%
of the students failed in Math and Hindi

?
and 7% of the students failed in all the
three subjects Math, English and Hindi.
P Then find the percentage of students

\’\‘/ who passed in all three subjects
T T | 40% TG H WE BT 45% B
[o% +3%Y A D% fiew § v 7u 60% == o=t & Bt gul Af
% o T 9 e § hel g, 21% B
zfew 9 fe=<t 9 wa g, 15% B3 v 3
fe=t # we g AfE 7% B@ = fawa 9 wa
D 6% =u =i it i faweii & o 7w o 1 i
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In an examination 75% of the candidates
| passed in English, ]

0

both, the total number of candidtes was:

|
Tk qiam | 75% wfqartt ofust o, 3?5%
T 1

t  wferd o A 9w 2R 2 12 s e

=M1 fawal § e g 21 afs 444 o
- S feedl § Twe w9 &, A W w5

O & 4 47
b Ppa) 1776 (b) 2001

=V (c) 2401 (d) 3751
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In a test consisting 80 questions, Ram
correct 70% questions. From first 60
questions, he correct 60% questions.
How much % questions he should cor-
rect from last 20 questions?

9 T Hisifes o8 4 1 80 Y94 | F 70%
Tl 1 WEl ST ST 21 A ST HUH 60 WA
H H 60% T HWal IW 3G du gH 20
o § | ST gfaer @&t IW 3
(b) 54%

d) 33%
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In an election two candidate participated.

1 2

115% voter did not vote. 155% votes

declared invalid and the winner get 60%
of valid vote and he win by 9600 votes.
Find the number of voter list.

@gr“@ et 9@ ¥ 3 SHiEaR € llé%ﬂ?ﬁ]'rﬂ

@%‘Hﬁ@aﬁ% lﬁé%aﬁzaﬁaﬂ‘rfaa%ﬁ

& qen Sira aTen gt S Hat F 60% W

FIA B AT 9600 AR W Siaar g1 YSiEd
At &1 9@ A1 Hi7

. (a) 85000 (b) 45000
“*— b P (c) 64800 (d) 75000

-
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Total population of a town 1s 240000. In
which 132000 are male. Out of which 90
out of per 100 are educated. While 64%
of the total population is educated. Find
how much % women are educated.

fepat STeT 1 Fol TEET 240000 ¥, foad @
132000 759 € T4 9 v 100 & € 90 12
ferg 2 @t wfeam fraa % wet foamt 21 afe

FA AEE FT 64% TS BT 2
e 2 7
- Ba) 32, % (b) 3175 %
2 7 l
(c) 33 5% (d) 345 %
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In a train there are as many wagons as
there are the no. of seats in each wagon.
In one of the wagon carrying 15 persons

3
is filled with 55 6% of its capacity. Find
the maxi-mum number of passen-gers

that can be accommo-dated if it has

minimum 22%% seats always vacant?
3 H 3 B fesa €, Toaqt &1 uode fesdl o
Hiz| wF fesd ° 15 =afe  aon SUHT duan

55%% HEICETERIERCIR e I T

2
3 afx 225% o eaw e @ @
B 9
Zi-—' B Pa) 567 (b) 543

(c) 423 (d) 672
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A population of a town 1s 32800. Out of
28

which — part are males and remaining

41
2

are famale. 14; % of males are married.

Calculate the % of married females?

28

U T FT STHEE 32800 &1 foad 9 i

2
WW%W?@W%IWﬁM?%

faarfea 21 a1 sared fF foraw ufawra wfeem
faarfea & @




MM‘;// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /




MM‘;// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /




MM‘;// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /




MM‘;// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /




MM‘;// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /




MM‘;// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /




MM‘;// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /




MM‘;// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /




MM‘;// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /




